XYZ,,=96.42 , 100.0 , 82.49
A=256,-3,) Y
B.=256,-b,0 Y
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Y,=Y/18,

az 3o [ (X=%;) /)
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1,000

azo + Dag
%.=0,110,B,
511/2

2=[A, 2+B2
GOslwaIdFarben (0),C
Farbenraum (C,g ,, Y)
Y=18Y,

A s=CONSt

Lichtart D50, Y 90 0,Y,=3.6
Name Bereich X X NTh A b,

570_775 53.58 34 33 271 0591 0378598 401127
v 496_775 67.74 76.35 598 0.451 0.508573 4680.67
496570 17.28 4526 595 0252 0.66 538 5380.215
C. 380 570 27.64 49.9 6678 0.191 0.345491 5980.235
B; 330_496 1348 7.88 635 0158 0.092468 5730.526
M, 570_496 6394 38.97 6354 0.384 0.234538¢5381.17
Jw; 380 775 86.78 90.0 74.240.345 0.358 90%  0.657
N,'380 775347 36 2965 03450358 3% 0657
U, 380_775 17.35 180 14.840.345 0.358 18% 0657
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-0.031
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-0.052
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-50

8, CigaMasz Y Lo Vor Lo Lra
525 256 568525 19 152 158 1
25 570 570 87 424 400 40.9 3
500313 59.0 147 251 230 238 2:
52,5 -25.6 58.5 205 2.77 260 26.7 2
2,896 255 -57.0 57.0 267 043 -~162D515%.
0.606 500 -31.3 50.0 327 2.16 18.7 19.4 1
001 00 00 00 0 499459 46.9 40|
001 00 00 00 181 019 -27:60:7-80
001 00 00 00 186 10 -04 00 O
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